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le;le;le;le; : 3.20 ?k.Vs?k.Vs?k.Vs?k.Vs    ] [    iw.kk±diw.kk±diw.kk±diw.kk±d : 80 ¼Hkkx¼Hkkx¼Hkkx¼Hkkx–I : 40,    HkkxHkkxHkkxHkkx–II : 40½½½½     
Time allowed : 3.20 hours ] [ Maximum Marks : 80 (Part–I : 40, Part–II : 40) 

iz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkx–I    ¼vkRefu"B½ ,oa Hkkx¼vkRefu"B½ ,oa Hkkx¼vkRefu"B½ ,oa Hkkx¼vkRefu"B½ ,oa Hkkx–II    ¼oLrq¼oLrq¼oLrq¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas fu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas fu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas fu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas 
ds mÙkj dksds mÙkj dksds mÙkj dksds mÙkj dks    viuhviuhviuhviuh    mÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxmÙkj iqfLrdk eas fy[kuk gSA iz'u&i= dk Hkkx–I    ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk 
ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk HkkxHkkxHkkxHkkx–II    ds fy, vkf[kjh ds fy, vkf[kjh ds fy, vkf[kjh ds fy, vkf[kjh dk dk dk dk 1    ?kaVs ?kaVs ?kaVs ?kaVs 25 feuVfeuVfeuVfeuV    dk le; fn;k tk,xkdk le; fn;k tk,xkdk le; fn;k tk,xkdk le; fn;k tk,xk    vFkkZrvFkkZrvFkkZrvFkkZr~~ ~~    ijh{kk ijh{kk ijh{kk ijh{kk 
lekIlekIlekIlekIr gksus ls r gksus ls r gksus ls r gksus ls 1    ????kaVk kaVk kaVk kaVk 25 feuVfeuVfeuVfeuV    iwoZ ijh{kkFkhZ dks HkkxiwoZ ijh{kkFkhZ dks HkkxiwoZ ijh{kkFkhZ dks HkkxiwoZ ijh{kkFkhZ dks Hkkx–II    dk iz'udk iz'udk iz'udk iz'u-i= fn;k tk,xkAi= fn;k tk,xkAi= fn;k tk,xkAi= fn;k tk,xkA    

HkkxHkkxHkkxHkkx–I    ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy 13    iz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkx–II    ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy 40    iz'u gSaAiz'u gSaAiz'u gSaAiz'u gSaA    

Question paper is divided into two Parts : Part–I (Subjective type) and Part–II 

(Objective type). Answer the questions of both parts in your answer-book. Part–I 

of question paper with answer-book will be provided with starting of 

Examination and last 1 hour 25 minutes of Examination will be given for 

Part–II i.e. question paper of Part–II will be provided before 1 hour 25 minutes of 

the end of Examination. 

Total questions in question paper of Part–I are 13 and of Part–II are 40. 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–I ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 13 gSaA  
 Please make sure that the printed pages in this question paper of Part–I are 8 in 

number and it contains 13 questions. 
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• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha flEcU/k esa dksbZ Hkh nkok Lohdkj ugha flEcU/k esa dksbZ Hkh nkok Lohdkj ugha flEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAd;k tk;sxkAd;k tk;sxkAd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instruction : 

    (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory. 

 (ii) bl iz'u-i= esa dqy rhurhurhurhu [k.M gSa] tks fd bl izdkj ck¡Vs x;s gSa % 

  This question paper consists of three Sections which are divided as :  
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  [k.M v %[k.M v %[k.M v %[k.M v %    bl [k.M esa 1 ls 5 rd dqy 5 iz'u gSa] izR;sd iz'u 2 vad dk gSA 

  Section A : This Section consists of 5 questions from 1 to 5, each of                 

2 marks. 

  [k.M c %[k.M c %[k.M c %[k.M c %    bl [k.M esa 6 ls 10 rd dqy 5 iz'u gSa] izR;sd iz'u 3 vad dk gSA 

  Section B : This Section consists of 5 questions from 6 to 10, each of                       

3 marks. 

  [k.M l %[k.M l %[k.M l %[k.M l %    bl [k.M esa 11 ls 13 rd dqy 3 iz'u gSa] izR;sd iz'u 5 vad dk gSA 

  Section C : This Section  consists of  3 questions from 11 to 13, each of               

5 marks. 

 (iii) [k.M l [k.M l [k.M l [k.M l ds lHkhlHkhlHkhlHkh iz'uksa esa vkUrfjd fodYi fn;s x;s gSaA buesa ls dsoy ,d,d,d,d iz'u gh pquuk gSA  

  There are internal choices are given in all questions of Section C. But you 

have to opt only one of them.  

                    [k.M [k.M [k.M [k.M –    vvvv        [ M. M. : 10    

SECTION – A 

1. f}?kkr lehdj.k 032 2
=++ kxx  esa k dk ,slk eku Kkr dhft, fd mlds nks cjkcj ewy gksaA 2 

Find the value of k  for quadratic equation 032 2
=++ kxx , so that it has two 

equal roots.  

2. ml fcanq ds funsZ'kkad Kkr dhft,] tks fcanqvksa (−1, 7) vkSj (4, −3) dks feykus okys js[kk[k.M dks           
2 : 3 ds vuqikr esa foHkkftr djrk gSA 2 

Find the coordinates of the point which divides the join of (−1, 7) and (4, −3) in 
the ratio 2 : 3. 
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3. sin 60° cos 30° + sin 30° cos 60° dk eku Kkr dhft,A 2 

Find the value of sin 60° cos 30° + sin 30° cos 60°. 

4. ,d o`Ùk ds prqFkk±'k dk {ks=Qy Kkr dhft,] ftldh ifjf/k 22 cm gSA 2 

Find the area of a quadrant of a circle whose circumference is 22 cm. 

5. ,d FkSys esa 3 yky vkSj 5 dkyh xsansa gSaA bl FkSys esa ls ,d xsan ;kn`PN;k fudkyh tkrh gSA bldh 
çkf;drk D;k gS fd xsan (i) yky gks \ (ii) yky ugha gks \ 2 

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from 

the bag. What is the probability that the ball drawn is (i) red ? (ii) not red ? 

                    [k.M [k.M [k.M [k.M –    c c c c     [ M. M. : 15    

SECTION – B 

6. jSf[kd lehdj.k ds ;qXe dks gy dhft, % 3 

s − t = 3,   6
23

=+
ts

 

Solve the pair of linear equations : 

s − t = 3,   6
23

=+
ts
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7. og A. P. Kkr dhft, ftldk rhljk in 16 vkSj 7ok¡ in 5osa in ls 12 vf/kd gSA 3 

Determine the A. P. whose third term is 16 and the 7th term exceeds the 5th 
term by 12. 

8. x-v{k ij og fcanq Kkr dhft, tks (2, −5) vkSj (−2, 9) ls lenwjLFk gSA 3 

Find the point on x-axis which is equidistant from (2, −5) and (−2, 9). 

9. ekWMy cukus okyh feêh ls Å¡pkbZ 24 cm vkSj vk/kkj f=T;k 6 cm okyk ,d 'kadq cuk;k x;k gSA 
,d cPps us bls xksys ds vkdkj esa cny fn;kA xksys dh f=T;k Kkr dhft,A 3 

A cone of height 24 cm and radius of base 6 cm is made up of modelling clay. 

A child reshapes it in the form of a sphere. Find the radius of the sphere. 

10. ,d isVh esa 90 fMLd (discs) gSa] ftu ij 1 ls 90 rd la[;k,¡ vafdr gSaA ;fn bl isVh esa ls ,d 
fMLd ;kn`PN;k fudkyh tkrh gS] rks bldh çkf;drk Kkr dhft, fd bl fMLd ij vafdr gksxh (i) ,d 
vad dh la[;k] (ii) ,d iw.kZ oxZ la[;kA 3 

A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn 

at random from the box, find the probability that it bears (i) a one digit 

number, (ii) a perfect square number. 

                    [k.M [k.M [k.M [k.M –    llll    [ M. M. : 15

SECTION – C 

11. euq dh ek¡ mlls 26 o"kZ cM+h gSA mudh vk;q ¼o"kks± esa½ dk xq.kuQy vc ls rhu o"kZ i'pkr~ 360 gks 
tk,xhA euq dh orZeku vk;q Kkr dhft,A 5 

Manu's mother is 26 years older than him. The product of their ages (in years) 
3 years from now will be 360. Find Manu's present age. 
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vFkokvFkokvFkokvFkok    

OR 

nks la[;kvksa dk varj 26 gS vkSj ,d la[;k nwljh la[;k dh rhu xquh gSA la[;k,¡ Kkr dhft,A  

The difference between two numbers is 26 and one number is three times the 

other. Find the numbers. 

12. fl) dhft, fd % 5 

θ+

θ−
=θ−θ

cos1

cos1
)cotec(cos 2  

Prove that : 

θ+

θ−
=θ−θ

cos1

cos1
)cotec(cos 2  

vFkokvFkokvFkokvFkok    

OR 

vk¡/kh vkus ls ,d isM+ VwV tkrk gS vkSj VwVk gqvk Hkkx bl rjg eqM+ tkrk gS fd isM+ dk f'k[kj tehu 
dks Nwus yxrk gS vkSj blds lkFk 30° dk dks.k cukrk gSA isM+ dk ikn fcanq dh nwjh] tgk¡ isM+ dk 
f'k[kj tehu dks Nwrk gS] 8 m gSA isM+ dh Å¡pkbZ Kkr dhft,A  

A tree breaks due to storm and the broken part bends so that the top of the 

tree touches the ground making an angle of 30° with it. The distance between 

the foot of the tree to the point where the top touches the ground is 8 m. Find 

the height of the tree. 
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13. fuEufyf[kr lkj.kh fdlh vLirky esa ,d fo'ks"k o"kZ esa HkrhZ gq, jksfx;ksa dh vk;q dks n'kkZrh gS %   

vk;vk;vk;vk;qqqq    ¼o"kks± esa½¼o"kks± esa½¼o"kks± esa½¼o"kks± esa½    5-15 15-25 25-35 35-45 45-55 55-65 

jksfx;ksa dh la[;kjksfx;ksa dh la[;kjksfx;ksa dh la[;kjksfx;ksa dh la[;k    6 11 21 23 14 5 

vk¡dM+ksa dk cgqyd Kkr dhft,A 5 

The following table shows the ages of the patients admitted in a hospital 

during a year : 

Age (in Years) 5-15 15-25 25-35 35-45 45-55 55-65 

Number of Patients 6 11 21 23 14 5 

Find the mode of the given data. 

vFkokvFkokvFkokvFkok    

OR 

,d LFkkuh; VsyhQksu funsZf'kdk ls 100 dqyuke (surnames) fy, x, gSa vkSj muesa ç;qDr vaxzsth 
o.kZekyk ds v{kjksa dh la[;k dk fuEufyf[kr ckjackjrk caVu çkIr gqvk %  

v{kjksa dh la[;kv{kjksa dh la[;kv{kjksa dh la[;kv{kjksa dh la[;k    1-4 4-7 7-10 10-13 13-16 16-19 

dqyukeksa dh la[;kdqyukeksa dh la[;kdqyukeksa dh la[;kdqyukeksa dh la[;k    6 30 40 16 4 4 

dqyukeksa esa ek/;d v{kjksa dh la[;k Kkr dhft,A 
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100 surnames were randomly picked up from a local telephone directory and 

the frequency distribution of the number of letters in the English alphabets in 

the surnames was obtained as follows : 

Number of Letters 1-4 4-7 7-10 10-13 13-16 16-19 

Number of Surnames 6 30 40 16 4 4 

Determine the median numbers of letters in the surnames. 
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